CONCORD (Subject-Verb agreement)

Concord means agreement or harmony.  In grammar, we apply this word as meaning perfect agreement between subject and verb.  This is shown by the subject and verb having the same person and number.

When the subject is singular, the verb is singular, e.g.
a) He writes

b) She swims
c) The baby cries

When the subject is plural, the verb is plural, e.g.
a) We write

b) They swim
c) The babies cry

Expressions such as each of, one of, neither of, every one of, not one of and words such as each, every, none, anybody, everybody, and nobody must be followed by verbs in the singular, e.g.
a) Each of the boys has a toy.
b) One of the ladies is married.
c) Neither of the brothers was present.
d) Is either of the sisters coming?
e) Every one of us knows that it is wrong.
f) Not one of the girls has a skipping rope.
g) Each man was searched.

h) Every child has a secret ambition.
i) Anybody is admitted to the caves.
j) Everybody was delighted at the end.
k) Nobody is displeased with the result.
l) None of the ships was lost.
A singular subject with attached phrases introduced by with or like or as well as is followed by a singular verb, e.g.
a) The boy, with several others, was late for school.
b) Alice, like Rose, is tall for her age.
c) Tom, as well as Fred, rises early in the morning.

When a verb has two singular subjects connected by and the verb is plural, e.g.
a) The cat and the dog were great friends.

b) The farmer and his wife are jolly people.

When a verb has one or more plural subjects connected by and, the verb is plural, e.g.
a) The officer and his men were crossing the field.

b) The boys and the girls are sure of their work.

Two singular subjects separated by ‘either _____ or’, ‘neither _____ nor’ take a singular verb, e.g.
a) Either one or the other has blundered.

b) Either he or she is right.

c) Neither Grace nor Helen knows anything about it.

d) Neither he nor she writes well.

Subjects separated by ‘either (plural) or’, ‘neither (plural) nor’, ‘both_____ and’, ‘all _____ but’, take a plural verb, e.g.
a) Either the boys or the girls are to blame.

b) Neither the pirates nor the sailors were afraid of battle.

c) Both Hugh and Sam were standing.

d) All but James are going to the picnic.

e) All of them but Grace are correct.

GO TO THE NEXT PAGE FOR SOME EXAMPLES 

In each sentence, one of the two words in brackets is correct, the other wrong.  Rewrite, underlining the correct word:
a) Each of the boys (is, are) going on holiday so each of them (has, have) gone to bed early.

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

b) Everybody (was, were) pleased as each of them (was, were) treated alike.
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

c) Neither he nor she (want, wants) to go.

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

d) (Wasn’t, Weren’t) we sorry when we heard you (was, were) going?

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

e) One of the men (is, are) married and so he (get, gets) preference.

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

f) All but William (has, have) behaved well so all but William (get, gets) away early.

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

g) James, as well as John, (rise, rises) at eight, so James, like John, (is, are) early for work.

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

h) Neither of the singers (was, were) present.

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

i) Every little girl (desire, desires) a nice doll.

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

j) The miller and his wife (is, are) a happy couple.

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

k) Why (does, do) every one of us (do, does) stupid things at times?

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

l) Neither of them (has, have) failed as both of them (is, are) right in five sums.

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

m) The girl, with several others, (was, were) going to school.

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
n) Both Agnes and Albert (is, are) here tonight.

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

o) Either Fred or Jean (has, have) made a mistake, so either he or she (is, are) wrong.

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

p) Not one of the boys (has, have) a knife although not one of the boys (is, are) young.

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

q) John, like James, (is, are) smaller than Peter.

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

r) (Is, Are) Frank and Margaret happy, as both he and she (was, were) complaining?

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

s) All of you but Andrew (is, are) good, so all of you but Andrew (get, gets) a reward.

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

t) Each of the ladies (is, are) delighted as each of the ladies (receive, receives) a prize.

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

u) Anybody (is, are) allowed to enter.

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

v) Every one of us (know, knows) the answers because every one of us (was, were) copying.

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

w) Nobody (is, are) grumpy at the camp because nobody (is, are) allowed to feel lonely.

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

x) Arthur, as well as Donald, (is, are) clever, so Arthur, as well as Donald, (has, have) succeeded.

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

y) The gentlemen and the ladies (was, were) wearing evening dress.

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

z) Either one or the other (is, are) wealthy as either one or the other (has, have) plenty of money. 
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

How confident do you feel about CONCORD?

 (                     (                      (
Great!                                  Got a few wrong                        Need practice
Pupil comment:

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

Teacher comment:

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

I can use correct grammar and make subject and verb agree.
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